Geometry — H Name: Keu
Section 3.2 Notes Parallel Lines and Transversals Date: i Period:

e | can identify angle pairs formed by a transversal.
e |can use the angles formed by parallel lines and transversals to solve algebraic
problems.
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Example 1: The measure of 3 of the numbered angles is 125°. Identify which of the angles are 125°. Give
a reason for each.

mel =126° (vertica) angves)
M<5=125° (avernate indenor anglff)

me)=12g (vernwlangles with 45)




Example 2:

a) Find the value of x. Give a reason for each step when solving.

Whs ax-4 (o extenor c\ngtes)
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b) Find the value of x. Give a reason for each step when solving.

meEvp = (2x-1)°

MFBD + 0 BE6 - \50”

31+ Xth <\

Yx-a =10
4x=\¢3

X: 4616
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Example 3: Find the values of x and y.

a)

00+ 13-y - 160 (conseC. nterior)

- ‘IX*\J =\ 20

X4y +40 7160 (consu wieror )
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2+ p°
(3y + 5)°
40° 133° 4 (2% 42y 110)
{l" j 120 B2 Hady= A8
2%ty > M0 124 : 2%¢3+ 341 §
H_1_.——- t 33‘9 -2x-3f=-1b
Yx=260 124 = 2x+3y +§ dx+dy - 1BS
|x.~ bh ] 2 Wo=2X r3y |_x=22’
2(b5) -y =120 1332 38-\0+ 3940 2(22)+3y =11b
130~y =120 14h = 3x+3y -6 i T
0 2950 5 139 Bar3y =12 ’)\.__9:2" ‘

Example 4: In the diagram, m || n. Find the Value of x. Explain how you obtained your answer.

m 57°

*

Toral A= 51+¢272 = \11"[

« %:57° (aw.nterior ang\cs)

i% = x=22 (&\anrero ang\¢s )
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